ERRAROBBIERT — 4N - RBISH—F
Sl KRR (FREBE)

[AE<%] 1 7% :2,500,000  ~ 2 7&:750,000 F 3 & :500,000 4

2013510888 (k) smEIIIE2H

1 ¥7R2m®118A8 L

‘ [Riz] ¥ ‘ [REBB] — | & (&) 15000 &

4 7% 1300,000 F 5 3& : 200,000 M

& | #| R mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s s . SHER :37. -2-1- . — migk— (1)
ils IR/ 3IYF> 2 oo 1(3_7)0 1-2-1-2 | 39.9 1 (4;0) e
LA agR—5— B:vXN/F X w77 — L
- . HE .37. 2 . — HAFIE (10)
FIb— T 42 s 1(327)4 4-3-5-3 | 39.7 6 (4_417) ’fﬁkﬂ\
ARG B I T R4S
o oo 12 | RAEE 1:37.5 5-5-4-5 |40.0| — 2 492 | BAFE (1)
Ry K7L % 55.0 (1/2) (+2) T‘}HEE&
R:€r/07Aa4 B:IRT71UFZ BHR=t All%E
N A : —-1-1- — LA (HA1E)
SO+ o2 g 1(.33/(4.)6 2-1-1-1 | 40.5 5 <4+717) . = b
R:YIRG4 952 B:T7ETEY b 75 Kis
= s AN L ER . —6-7- — HEEE (183
TS5y 151 42 e 1.(328).0 7-6-7-6 | 40.0 3 <4+741) gma@i (1)
74NV KTyYa BiL174> HE77—»4L
= B 4 2 | RAi—1E 1:38.3 8-8-8-7 |40.0| — 4 445 | EEERRZ ()11I%)
61 XNIAT T4 —> 54.0 (1 1/2) (-5 | RHAET
L:7YA4FALINN B:A98—-<547 AR
FRiEZ 139, -3-3- . — NAAZ (1)
707l 7 I nFR=AN "2 En 7 IR T | e
L:7H14F ) v—Ib Biky bXTAIL milll &Rl
L _ | . o _ 1112
ls TS5y T4 IT H o2 %Jsﬁ 1.(450).1 6-7-6-8 | 42.5 8 (4:312) gﬂfé (11i5)
.75y k=0 BTV E®IXFA L % e ]
@ 1—F—@&BIEf
13=zr= 5,4,7,2,3,8,6,1
Aol=5r= 4,5,(2,7),3,6,8,1
30—7+— (4,5),7,3,2,8,6,1
41 —F— 4,5,2,7,3,6,1,8
[ RN
B OB 5 150 714K 2-5 340M B E 2-5 910M &R 2-3-5 830M
7 B 5 100 &5 1400 | | B B 5-2 1,160/ | | 38 5-2-3 3,640M
2 230H 2-3 550
8 1204

ABICOVWTRDTEEERROODE. TR LIV,




